Klapptest — Binome 6

Falte das Blatt entlang der Linie und faktorisiere.

1. e? - 4be + 4b? =

2. 9a® - 18ad + 9d°

3. 9d* - 9c?® =

4. 497 + 12ej + 9e?

5. 9a? + ocak + k2?2 =

6. d? - bz =

7. c? - 2ct + £2 =

8. 9e? - 4b? =

9. e? + bek + 9k? =

10. 32 + 4fF + 4f2 =

11. 4a2® - 4f2 =

12. 9a? + ocaf + f2 =
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13. 4f2 + 12fs + 9s2 =

14. 4f2 - a2 =

15. 4e? + 4be + b? =

16. g? + 4gh + 4h? =
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(e - 2b)~*

(3a - 3d)~*

(3d+3c) (3d-3c)

(29 + 3e)?

(3a + k)?2

(d + b) (d - b)

(c - £)°

(3e+2b) (3e-2Db)

(e + 3k)?2

(3 + 2£)°2

(2a+2f) (2a-21)

(3a + f)?

(2f + 3s)?

(2f + a) (2f - a)

(2e + b)?
(g + 2h) 2
Ergebnis:

—_HM6P.



